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E None of the above
Correct Answer B

Marks 1
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Correct Answer A
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10 Question Description TS, A% FG, a1 AGd HTE?
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E None of the above
Correct Answer A
Marks 1
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Correct Answer C
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12 Question Description fasrerTar & = @ %‘ ?

A HIEETH
= EEEiL)
c Fommir &/
D FTETH
E None of the above
Correct Answer A
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Correct Answer B
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E None of the above
Correct Answer D
Marks 1
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E None of the above
Correct Answer C
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17 Question Description FIC AT ST T hiHee Toqd e av Taiord 541 ?

A 1865
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E None of the above
Correct Answer C
Marks 1
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Correct Answer C
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Correct Answer B
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Correct Answer B
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Correct Answer B
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Correct Answer C
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27 Question Description Ferwarfamemter g wb@r w==T Fv= arer St qid e e & e o

A EEIERICE
B HqraEde
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D ERIEIES
E None of the above
Correct Answer B
Marks 1
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29 Question Description FIENT & e T T &rd & 2

A 12
B 14
c 16
D 18
E None of the above
Correct Answer A
Marks 1
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Correct Answer B
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A et arferd
B LS
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D fgT
E None of the above
Correct Answer C
Marks 1
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B BIECT
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D Far
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Correct Answer B
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Correct Answer C
Marks 1
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Correct Answer A
Marks 1
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Correct Answer B
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Correct Answer C
Marks 1
40 Question Description HATT S T (A Afeotar ST=ar9 & &1 — T

‘Ao AT deg 8 ?

A e

B HTTET

c arHT afeE
D A& 9T

E None of the above
Correct Answer Cc

Marks 1



41

42

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

e & e ST § gToT @er AT B 3T Wi @ ot 9rEr Sar g ?
T ERT

g wfer

Femer wfer

Fagor &

None of the above

T — AHTET I & RATT e AT 2
A= &S0

AT A

EIREERIA]

MUEAIRCES

None of the above



43

44

Question Description T & 39 U S & 5 ST & faare aar &, 39 #97 el Jrar g 2
A e

B HATETAT

c EIRANED

D rafa=r

E None of the above

Correct Answer B
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Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.

From the options provided below, identify the phrase that does not describe the innate nature of human kind, as per the passage
eternal thirst for knowledge

countless new discoveries and inventions

desire to know what is beyond the visible world

restless spirit

None of the above



52 Comprehension

Question Description

A

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.

The passage indicates that mankind differs from other living species in
the thirst for adventure
self-knowledge

the desire to conquer the universe



Correct Answer

Marks

53 Comprehension

Question Description

attempting the impossible

None of the above

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.

Read the following statements and arrange them in a logical sequence in line with the tone of the passage
(1) In the absence of self-knowledge, it is also dangerous

(i1) Knowing and understanding yourself is more important

(ii1)The most advanced knowledge of the universe is useless

(iv) Knowing and understanding the world around is important

(1); (11); (iii) 5(iv)



Correct Answer

Marks

54 Comprehension

Question Description

A

(iv); (ii);(iii);(iv)
(iii); (i); (ii) 5(iv)
(ii); (iv); (iii) 5(i)

None of the above

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.

In the passage what is described as boundless
the desire to know

the universe



Correct Answer

Marks

95 Comprehension

the restless spirit
human curiosity

None of the above

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.
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Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

From the options provided, select the antonym of the word “restless”, in the sense implied in the passage

peace loving
calm

contentious

eager

None of the above

Maruti Suzuki Installs Asia's largest 20 MWp carport type Solar Plant at which state?
Haryana

Maharashtra

Rajasthan

Punjab

None of the above

A
1



57 Question Description India has recently launched its first COVID-19 vaccine for animals. What is the name of vaccine?

A Petcovax
B Anocovax
Cc Creacovax
D Armacovax
E None of the above
Correct Answer B
Marks 1
58 Question Description The world's first wildlife conservation bond Has been issued by the World Bank for which animal?
A White elephant
B Black Rhinoceros
C Asiatic Lion
D Bengal Tiger
E None of the above
Correct Answer B

Marks 1



59 Question Description Baikho festival is celebrated in which state?

A Manipur
B Nagaland
C Tripura
D Assam
E None of the above
Correct Answer D
Marks 1
60 Question Description Who was the first Indian Chief of Army Staff of the Indian Army ?
A Gen. K.M. Cariappa
B Vice-Admiral R.D. Katari
C Gen. Maharaja Rajendra Singhji
D Gen. Vishit Singh
E None of the above
Correct Answer A

Marks 1



61 Question Description Tap to pay for UPI’ is a new functionality launched by which platform?

A Google Pay
B PhonePe
C BHIM App
D Paytm
E None of the above
Correct Answer A
Marks 1
62 Question Description World Veterinary Day is being celebrated on which date?
A April 29
B April 28
C April 30
D April 27
E None of the above
Correct Answer C

Marks 1



63 Question Description ‘Who among the following has recently been appointed ambassador of Indo-UK culture platform?

A Sonu Nigam
B Arijit Singh
Cc Shankar Mahadevan
D AR Rahman
E None of the above
Correct Answer D
Marks 1

64  Question Description What is the name of the eBook launched by the Income Tax Department?
A Amrutwani
B Pratidhwani
C Aatmnirbhar
D Kiyaverse
E None of the above
Correct Answer B

Marks 1
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Question Description

Correct Answer

Marks

Question Description

m O O W >

Correct Answer

Marks

B. C. Roy Award is given in the field of
Music

Journalism

Medicine

Environment

None of the above

Find out the wrong number in the given sequence of numbers.

105, 85, 60, 30, 0, -45, -90

60
None of the above

A
1



67 Question Description Find out the alternative figure which contains figure (X) as its part.

I BN

X) (1) (2) @ @

A 1

B 2

Cc 3

D 4

E None of the above
Correct Answer A

Marks 1



68 Question Description Find the missing Numbers.

38 54 |61 79

21 7 12 24

19 |09 |14 ?

A 18, 46

B 28,51

(] 42,62

D 18, 44

E None of the above
Correct Answer D

Marks 1



69 Question Description January 1, 2008 is Tuesday. What day of the week lies on Jan 1, 2009?

A Monday
B Wednesday
C Thursday
D Sunday
E None of the above
Correct Answer C
Marks 1
70 Question Description [fence [ wall boundary
path | alley ?

The words in the bottom row are related in the same way as the words in the top row. For each item, find the word that completes the bottom row of words.

A ramp

B passageway

(] airfield

D pedestrian

E None of the above
Correct Answer B

Marks 1



71 Question Description Here are some words translated from an artificial language.
hapllesh means cloudburst
srenchoch means pinball
resbosrench means ninepin

‘Which word could mean "cloud nine"?

A leshsrench
B ochhapl
C haploch
D haplresbo
E None of the above
Correct Answer D
Marks 1
72 Question Description In the question, a piece of paper is folded and cut as shown below in the questions figures. From the given option figures, which one indicates how it will

appear when opened.



None of the above

Correct Answer

Marks



73 Question Description Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?

A 7
B 10
(] 12
D 13
E None of the above
Correct Answer B

Marks 1



74 Question Description In a family of 7 persons, there are only 3 females and three married couples. Each child has both the parents alive. The family members — A,B,C,D,E,F and
G spent certain amounts in a month.
B is the only son of G, who spent the third highest amount. A is not a female and spent an amount just lower than D’s husband. C is the father of two
children of different genders one of them is D. E’s mother-in-law was the third highest spender. F is the aunt of A and spent the highest amount. The

spendings of E were just lower than A’s uncle, who spent the fourth highest amount. C spent Rs. 4500, which is the second highest amount to be spent.

How is the second highest spender related to the second lowest spender?

A Father

B Maternal grandfather
C Paternal Uncle

D Can't be determined
E None of the above
Correct Answer B

Marks 1



75 Question Description Statement: Most of those who study in premier engineering colleges in India migrate to developed nations for better prospects in their professional pursuits.
Courses of Action:

|. Al the students joining these colleges should be asked to sign a bond at the time of admission to the effect that they will remain in India at least for ten years after they
complete education.

Il. Al those students who desire to settle in the developed nations should be asked to pay entire cost of their education which the government subsidises.

A Only | follows

B Only Il follows

(03 Either | or Il follows
D Neither | nor Il follows
E None of the above
Correct Answer B

Marks 1
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